### St. Paul Lutheran School/Church Scrip Order Form

Books & Music	Discount	Amounts			Quanity	Total	
Amazon	1.70%	\$10	\$25		\$100		
Barnes & Noble	8.0%	\$5	\$10	\$25	\$100		
Best Buy	4.0%		\$25	\$100	\$250		
iTunes	5.0%	\$15	\$25				
Department Stores							
Aeropostale	10.0%		\$25				
American Eagle Outfitter	10.0%		\$25				
Banana Republic	14.0%		\$25		\$100		
Best Buy	4.0%		\$25	\$100	\$250		
Boston Market	12.0%	\$10					
Buckle	8.0%		\$25				
Burlington	8.0%		\$25				
Champs	8.0%		\$25				
Claires	9.0%	\$10					
Disney	3.0%		\$25	\$100	\$1,000		
GameStop	5.0%		\$25				
Gap	14.0%		\$25		\$100		
Gordon Food Service	4.0%		\$25		\$100		
Guitar Center	4.0%		\$25				
Gymboree	12.0%		\$25				
Famous Footwear	8.0%		\$25				
HomeGoods	7.0%		\$25		\$100		
JC Penney	5.0%		\$25		\$100		
Kohl's	4.0%		\$25		\$100		
Lands End	15.0%		\$25		\$100		
Lane Bryant	8.0%		\$25				
Macy's	10.0%		\$25		\$100		
Marshall's	7.0%		\$25		\$100		
Maurice's	7.0%		\$20				
Meijer (not AK and HI)	3.0%	\$10	\$25	\$50	\$100		
Nordstrom	4.0%		\$25		\$100		
Neiman Marcus	12.0%			\$50			
Old Navy	14.0%		\$25		\$100		
Overstock.com	8.0%		\$25		-		
PetSmart	5.0%		\$25				
Petco	9.0%		\$25				
Target	2.5%	\$10	\$25	\$50	\$100		
T.J. Maxx	7.0%		\$25		\$100		
Talbot's	13.0%		\$25				
Children's Place	12.0%		\$25				
Wal-mart/Sam's	2.5%	\$10	\$25	\$50	\$100		
Wayfair	6.0%	,		, , , ,	\$100		
Zappos.com	8.0%		\$25		\$100		
Dining/Restaurants	Discount		Amo	unts	,	Quanity	Total

Applebee's       8.0%       \$10       \$25       \$50         Arby's       8.0%       \$10       \$10         Buffalo Wild Wings       8.0%       \$10       \$25         Burger King       4.0%       \$10       \$10         Cheddars       8.0%       \$10       \$25       \$100         Chili's Grill       11.0%       \$25       \$50         Chipolte       10.0%       \$10       \$25	
Buffalo Wild Wings         8.0%         \$10         \$25           Burger King         4.0%         \$10           Cheddars         8.0%         \$10         \$25           Chili's Grill         11.0%         \$25         \$50	
Burger King         4.0%         \$10           Cheddars         8.0%         \$10         \$25           Chili's Grill         11.0%         \$25         \$50	
Cheddars         8.0%         \$10         \$25         \$100           Chili's Grill         11.0%         \$25         \$50	
Chili's Grill 11.0% \$25 \$50	
Cousin's Subs 9.0% \$10	
Cracker Barrel 8.0% \$10 \$25	
Dairy Queen 6.5% \$10 \$25	
Denny's 7.0% \$10	
Domino's 8.0% \$10 \$25	
Dunkin' Donuts 3.5% \$10 \$25	
Fazoli's 9.0% \$25	
Hardee's 5.0% \$10	
IHOP 8.0% \$10 \$25	
Little Caesar's Pizza 8.0% \$20	
Noodles & Company 8.0% \$10	
Olive Garden 8.0% \$10 \$25 \$100	
Outback Steakhouse 10.0% \$10 \$25 \$50	
Panda Express 8.0% \$25	
Panera Bread 8.0% \$10 \$25 \$50	
Papa John's Pizza 8.0% \$10	
Papa Murphy's Pizza 8.0% \$10	
Pizza Hut (not AK or HI) 8.0% \$10	
Pizza Ranch 8.0% \$25	
Qdoba Mexican Grill 7.0% \$25	
Red Lobster 8.0% \$10 \$25	
Red Robin 8.0% \$25	
Starbucks 4.5% \$10 \$25 \$50	
Subway 4.5% \$10 \$50	
Taco Bell 5.0% \$5 \$10 \$25	
Texas Roadhouse 8.0% \$25 \$100	
TGI Friday's 9.0% \$25	
Wendy's 6.0% \$10	
Electronics & Office	
Office Depot 5.0% \$25 \$100	
Office Max 5.0% \$25 \$100	
Staples 5.0% \$25 \$100	
<b>Entertainment</b>	
Marcus Theater         8.0%         \$25         \$100	

Gas & Auto	Discount	Amounts	Quanity	v Total	1
Gas & Auto	Discount	Aillouilla	Quanit	y i Otai	- 1

		1		I I		I	T
BP	2.5%		ΦEO	¢100	<u> </u>		
	3.0%		\$50 \$25	\$100 \$100	\$250		
Cenex			<b>Φ</b> 23		<u> </u>		
Exxon/Mobil	1.5%		<b></b>	\$50	\$250		
Holiday Station Stores	4.0%		\$25	<b>Ф</b> ГО	\$100		
Kwik Trip	4.0%		\$25	\$50	\$100		
Marathon	4.0%		\$25	\$100	\$250		
Sears Auto Center	4.0%		\$25	\$100	\$250		
Shell	1.5%		\$25	\$50	\$100		
Speedway	4.0%		\$25	_	\$100		
The Store	5.0%		\$5-\$1	100			
Grocery							
Cub Foods	4.0%		\$25		\$100		
Festival Fo (not OH)	3.0%		\$25	\$50	\$100		
Pick-N-Save(WI only)	4.0%		\$25	\$50	\$100		
Piggly Wige (WI & IL only)	3.0%		\$25	\$50	\$100		
Gordon Food Service Store	4.0%		\$25	ΨΟΟ	\$100		
Woodmans	5.0%		\$25	\$50	\$100		
VVCCCumuns	0.070		ΨΖΟ	ΨΟΟ	Ψ100		
L							
Health & Beauty							
Bath & Body Works	12.0%	\$10	\$25				
CVS/Pharmacy	6.0%	\$10	\$25		\$100		
ULTA	7.0%	<b>V</b> 10	\$25		Ψ.σσ		
Walgreens	5.0%		\$25		\$100		
			<del></del>		7.00		
	'						
Home Improvement							
Ace Hardware	4.0%		\$25		\$100		
Fleet Farm	3.5%		\$25		\$100		
Home Depot	4.0%	\$10	\$25	\$100	\$500		
Lowe's	4.0%	\$20	\$25	\$100	\$500		
Menards	3.0%	ΨΖΟ	\$25		\$500		
Weilards	0.070		ΨΖΟ	Ψ100	ψυσο		
Sporting Goods							
	10.0%		<b></b>		¢100		
Bass Pro Shops Cabela's	10.0%		\$25 \$25		\$100 \$100		
Dick's Sporting Goods	8.0%		\$25		\$100		
	8.0%		\$25		φιυυ		
Dunham's Sports Foot Locker	8.0%		\$25 \$25				-
					<b>¢</b> 100		-
L.L. Bean	16.0%		\$25		\$100		
Nike	12.0%		<b>ቀ</b> ጋ፫				
			\$25		¢400		
Scheels	8.0%		\$25		\$100		
	+						
	+						
Troval	Dieserrat	l	A 1000 C	 pt=		Quarity	Total
Travel	Discount		AIIIO	unts		Quanity	ı Oldi

Best Western International	12.0%		\$25		\$100		1
Boardwalk Inn	9.0%		\$25		\$100		
Courtyard by Marriott	6.0%		Ψ_0		\$100		
Carnival Cruise Lines	8.0%			\$100	\$500		
Canopy by Hilton	2.0%			\$100	\$500		
Conrad Hotels & Resorts	2.0%			\$100	\$500		
Delta Air Lines	4.0%			\$250	\$1,000		
Disney	3.0%		\$25	\$100			
Embassy Suites by Hilton	2.0%			\$100	\$500		
Fairmont Hotel	9.0%				\$100		
Hampton	2.0%			\$100	\$500		
Hilton	2.0%			\$100	\$500		
Marcus Hotels & Resorts	8.0%		\$25		\$100		
Princess Cruises	6.0%			\$100	\$500		
Xtras							
Build-A-Bear	8.0%	+	\$25				
Fannie May Candies	25.0%	\$10					
Hallmark	4.0%		\$25				
Jo-Ann Fabric and Craft Stores	6.0%		\$25				
Michaels	4.0%		\$25				
Petsmart	5.0%		\$25				
Popcorn Factory	12.0%			\$50			
Pottery Barn	8.0%		\$25		\$100		
Shutterfly	9.0%		\$25				
Visa	1.25%		\$25	\$50	\$100	\$250	\$500

DATE	
NAME	
PHONE	
% TO GO TO FAMILY OF	(1/2 % goes to General Fund)
ANY STORE SUGGESTIONS	
EMAIL	